7 [ 6 _ 4 3 _ ? _ 1
. . DRILL, TAP & C'SK FOR
—| 274" [69.6] |— ﬂwhnvﬁ@m.o_ M8 FLAT HEAD SCREW
] 15° D e i0 - | (10PLACES NEAR SIDE)
q 1.26" [32.0] 1.67" [42.5]
— 76" [19.3]
3.25" [82.6] ; |
N 34" [8.7 (TYP) _ ; ]
ﬁ _I« _ « 1.98"[50.3] | k N —~—1.35" [34.2]
: L | (P
D| @1.00" [@25.4] ©.39" [210.0] 16" 4.0 | & 24" [@6.0] ! /_/ 2.52" [64.0]
DIMENSIONS TYP BOTH LEGS 16" [4.0]—  (TYP) L ' ' —L_ DRILL & C'SK FOR
@@ﬁ@@| M10 FLAT HEAD SCREW
| 224" 56.] ! (FAR SIDE) |
[ - “ 17 O_l " |'_ _‘l .w“_.: _”mou_
PN | } DRILL & C'SK FOR . |~ .95"[24.0]
; S 1.97" [50.0] M10 FLAT HEAD SCREW
@.35" [@9.0] |\\\i\ 118" [30.0] D SCREM _ A
C| (4 PLACES) { ( ) . 1.69" [43.0]
T DS+ 3.10" [78.7]
F DRILL, TAP & C'SK FOR — 4
OO0 M8 FLAT HEAD SCREW _ ) '

46" [11.6] ———

—_—

1.34" [34.0]

- 76" [19.3]

ROTATIONAL ARRAY BRACKET-4 PCS

NOTES:

A| 1. DRAWING REPRESENTATIVE OF:
HVSB, BLACK POWDER COAT, RAL9004
HVSW, WHITE POWDER COAT, RAL9003

(2 PLACES NEAR SIDE)

2.10" [53.4] —

ROTATIONAL ARRAY CAB BRACKET-4 PCS

- 4.20" [106.8] —

7A| 4.31" [109.5] —

COMMUNITY PROFESSIONAL LOUDSPEAKERS
333 E FIFTH ST. CHESTER, PA 19013-4511 USA
TEL: (610)876-3400 FAX: (610)874-0190

WWW.communitypro.com

Community

TOLERANCES ON ALL DIMENSIONS
UNLESS OTHERWISE NOTED TO BE:
DECIMALS: +.03"
METRIC: +0.5mm

ANGLES: +5°

DIMENSIONS ACROSS CENTERLINES
TO BE SYMMETRICAL

TSC = THEORETICAL SHARP CORNER

DRAWING TITLE
HVS
H/V SPLAY BKT EXT KIT 2/W
DWG NO. HVS-2D mm<O
SCALE SHEET
NONE 10F1

ALL DIMENSIONS IN in/mm U.O.S.

THIS DRAWING HAS BEEN FURNISHED BY COMMUNITY LIGHT & SOUND, INC.
THE INFORMATION AND KNOW-HOW THEREON MAY NOT BE USED NOR THE

[REV] DESCRIPTION | DATE

THIRD ANGLE PROJECTION - 4

DRAWING REPRODUCED WITHOUT THE WRITTEN PERMISSION OF COMMUNITY]
LL REPRODUCTIONS WHOLE OR IN PART, INCLUDING VENDOR'S SHOP

[ REVISIONS

DO NOT SCALE DRAWING

DRAWINGS SHALL BEAR OR REFER TO THIS STAMP.

3 _

2 1




